
Column Subtraction (No Exchanging)

3 3 5 1 2 7 2 9

− 1 1 − 3 − 1 − 1 6 − 1 2

2 6 3 9 4 2 7

− 1 3 − 2 − 4 − 1 − 2 3

2 7 8 4 8 3 9

− 1 2 − 7 − 3 6 − 1 − 2 1

8 4 7

− 6 − 5
2 4 2

a)
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m)

d)
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2 6
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5
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32

1

0

10

1

Complete the following 
calculations by filling in the 
missing numbers.

67 pupils go on a school trip. 
44 travel by coach and the rest 
travel by minibus. How many 
pupils travel by minibus? Use 
the column method to work out 
your answer.
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Column Subtraction (No Exchanging) Answers

3 3 5 1 2 7 2 9

− 1 1 − 3 − 1 − 1 6 − 1 2

2 2 1 2 6 1 1 7

2 6 3 9 4 2 7

− 1 3 − 2 − 4 − 1 − 2 3

1 3 1 2 1 5 3 0 4

2 7 8 4 8 3 9

− 1 2 − 7 − 3 6 − 1 − 2 1

1 5 1 1 1 2 2 0 1 8

8 4 7

− 6 − 5
2 4 2

a)

f)

k)

1) 2)

b)

g)

l)

c)

h)

m)

d)

i)

n)

e)

j)

o)
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2 2

1
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32

0
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0
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1

Complete the following 
calculations by filling in the 
missing numbers.

67 pupils go on a school trip. 
44 travel by coach and the rest 
travel by minibus. How many 
pupils travel by minibus? Use 
the column method to work out 
your answer.

1 Answer = 23 pupils travel by 
minibus.
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Column Subtraction (With Exchanging)

2 3 6 3 4 7 4 1

− 1 7 − 9 − 2 − 1 8 − 2 6

4 5 4 6 5 5 6

− 2 9 − 1 − 7 − 2 − 1 8

6 2 1 6 2 8 7 5

− 3 5 − 3 − 3 8 − 4 − 4 6

1 7

− 2 6 − 2
3 5 2

a)

f)

k)

1) 2)

b)

g)

l)

c)

h)

m)

d)

i)

n)

e)

j)

o)

2 8

5 0
7

1

7

9

3 5

84

8

9

37

1

Complete the following 
calculations by filling in the 
missing numbers.

40 pupils are in the school play. 
28 of them have speaking parts. 
How many pupils have non-
speaking parts? Use the column 
method to work out your 
answer.
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Column Subtraction (With Exchanging) Answers

2 3 6 3 4 7 4 1

− 1 7 − 9 − 2 − 1 8 − 2 6

6 7 9 2 1 5

4 5 4 6 5 5 6

− 2 9 − 1 − 7 − 2 − 1 8

1 6 2 4 1 9 2 3 3 8

6 2 1 6 2 8 7 5

− 3 5 − 3 − 3 8 − 4 − 4 6

2 7 2 8 2 4 3 7 2 9

1 7

− 2 6 − 2
3 5 2

a)

f)

k)

1) 2)

b)

g)

l)

c)

h)

m)

d)

i)

n)

e)

j)

o)

2 8

5 0
7

1

7

9

3 5

84

8

9

9

37

6 5

1

Complete the following 
calculations by filling in the 
missing numbers.

40 pupils are in the school play. 
28 of them have speaking parts. 
How many pupils have non-
speaking parts? Use the column 
method to work out your 
answer.

Answer = 12 pupils have non-

speaking parts.

1

3

5 5 7 66

3 4 4 4

1 2 3 31

1

1 1 1 11

1 1 1 1

1 1 1 1
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